3F 67T | L ] BidEiy Faer =0

L. B
2. 782 2 R ws 1 24248191435 ~ 36

G

P
b i

KKEI%

S BAKTRELE AP ER- BFIZF oo

CITBREE A TR PR

N4

) FREFLA

B4 LR ?IE':F'”Z/!‘I’\*;}F]%?}%’E I BRI S g RO A S
RSP S A DRk S

7 -5-
—E]j’_?’, V‘%lfgf.}ffjfaétﬁé‘éﬂ7iﬁﬂj§%aﬁ "E—Ef- _‘§4 “

ﬁfr BARLF R 0 B 5 FLF JRFE o

@PM%@PO&Q
p ——a
d‘il
ﬁ
1-u1’fje
'I'l'l'l

.\]

¥ fé %’f‘?@é FLBF 4 0 B A A MRS
BAL 7T el B8R > & > p %‘ﬁji?’é?'fﬁ .

/f{?xf.{n@k‘?’ A ? & 5T 35»;}’3‘3 .

BAEEF 2 R Se SRR R BB o

EFRBE %‘.’4#@‘;” P B B E A
BACKER -THE -~ FJHARDEYR REAHFF < &
94 & o

FRAWEILT RO RAFE L EAFY FEEo
AEAF S BAREITEERY o




%306 FT ¥ A :

1.+ = 7:30 2l4c; 7:30-7T:45 =44 ~ i £ 1 iF o
2. PR E M C FASFATE L > BIFIE R ERE o
3. BIFTE skt ghik A Hic o
E"E]JS
A BB
D. TEF RGP ELFEH -
6. S 2TIRE ~ B P 42 REKFTHREG AT
1 BpFesst e o BA NS L FFNT HipEp o
o 2. h B E PR X R EERTH 0 A SRty
- FeJE
3. EP AR REREAFSRR -
. 2TREf F408 w84 ~ 4% -
2. BEp Aty p b ER -
- %
&E%“”%M+Eiﬁ%£\%£? F e RF T E o
A, ¢4 = 12:30 8 RRrITRE Eph > MPFTEEY i o
Lﬁﬁé%4§Wﬁ%£’“ﬁ§?4§“ﬁ3&£’k§#ﬁl
ﬁ%*@’%ﬁﬁﬂ B - R A
oy 2. 7% F‘/});‘l'?"’i(W lF’-‘ﬁj\Pﬁgﬂl %g‘k\ﬁﬁ’%é;;@fﬁ‘?/}ﬁ’
‘&ii 8 Rt g S A
3. AP EIEP 2> TFAE AT Y RE  BERIITHT
BEARBHAME
ey | FRIBFITIF S0 AT ER  FEEAHEE
T RERLRE  HERE FeEa e 4o
>'<306frﬁ%/§%1w'
?‘Tﬂg _:L,,e»ﬁ E\i'%”ﬁ_’?'_’”z}%f 24367 % chd °>‘\mﬁi'$ﬁ?ﬁlp
ff%d;ﬁ?‘i«k'\#ﬁ?ﬁ'fﬁ?‘ ) Tfié’fﬁ:?fmﬁjm’% , lnglg,;‘\,§4 B B s
WEAL RO G EE A o fi o Mm-S 2y (Dr FHE(2)

rEEY Bk -




Yﬁ B

X198 &R %

- FHERELF

8/31 B ¥
8/31 ff| =5l g
9/8~9/9 [ = 3}~ ¥

T
9/14 %,@;r J_ 12/1~122 [l 157~ “FEEH
i&ﬁkfﬁ %*EJWJFI 12/7 Frﬁﬁifiiﬂﬁﬁ
9/14 ngHEj_ é[f' 12/10 57 - I\T&%;{'
9/15 FLEEFRITEH 12/14~12/17 TE?E?{E‘I?E (4
[9 7] A (12 7 ]| 1221 BUSH L v B
9ﬂW%ﬁm;?@ ﬁ@ o
9/17 -u;%l%lt[—l-?' EEf ¢ f 12/23~12/24 |55 = 37— ,g@?ﬁzﬂ
9/19 = |! ¥
9/21 BFEI iR 12/24 ZHFCATH SRt Y
9/26
9/26 F54 I3
9/28 [l 1= TR AT
9/28 Al
10/1~10/4 fl17F a'qg_lg;
10/5 [} [SFF[J\[%%%
10/9 FEHEH
~ I ST— %
[10 * ) gﬁz 10/15 [If] 157 .
10/19 B [ [g\[ 14~ 111 ;i_ﬁ__ﬁ—r’j:%jg‘rgzﬁq
10/22 57— %7 «ry%@t & 1/6~1/8 1% g i
w0ps it e s || [,y | VA2 R
1/18~1/19 5y = TV
120 gl =
121K l’%ﬁﬂ fi
[11 * ) 112 3 B

11/16 ﬁr%’? (e




B
EE[FI

R TR E m;_%fp,,,,ﬁ/%ﬁg:
2—1}1%;4,% ’}“'m’}"ﬁ’: BEITIEIER
ot ER AR 0 e I Ep R g AR .
2. 3B se !
,::PL%\%T\LF“EE'?}%*
BREE 0 BB
N
iﬁiﬁ%ﬁ&ﬂﬁﬁﬁﬁﬁﬁiﬁﬁﬁiﬁo
EAEM TR B T AP - e iz
LW R #&ﬁi/+%%£ﬁﬁ¢ °
.‘E‘ G\“i&”“"uf-ﬁ‘g Ve
C SR~ SR o XA R DR
i%ﬁﬁﬁa%ﬂ’v SEELE ]S K
M= Az Sde B AL R E%“/r' o
BB OAELEIEF X IRIE K
53 T ARRY AT E T REER
ARG R P LR G SR W

\VBP—‘

&’ﬁ%ﬁip
5 R ‘/‘ AT E

w

P RE R R e

’;\37» “‘$
(= m\wh
4 %

\w "ﬁ

A‘

ﬂ*v
! -—
14
i

g8 IR

H




